Informational Report for the February 17, 2015 Board of Trustees Meeting

				New							
Last Name	First Name	мі	Site	Emp to District	Duties	Division	Hourly Rate	Maximum	Maximum Amount	v	Assign End Date
Last Name	i ii st Naine		Sile	District	Dulles	DIVISION	Nate	Waximum	Amount	Deg. Date	Life Date
Chabot College - Com	munity Educat	ion									
Haney	Victoria	А.	Chabot	No	Develop and implement curriculum enrichment workshops and courses for Chabot's Hayward Promise Neighborhood mentorship program	Community Education	\$ 30.00	400	\$ 12,000.00	1/20/2015	6/30/2015
Woergoetter	Rosalie	A.	Chabot	No	Teach line dancing classes to Community Education students	Community Education	\$ 40.50	36	\$ 1,458.00	2/3/2015	6/30/2015
Chabot College Harrell	Dorothea	nmi	Chabot	No	Provide support for offsite child-care facilities	Foster and Kinship Care Education	\$ 20.00	200	\$ 4,000.00	1/9/2015	6/30/2015
Jones-Rasberry	Lois	E.	Chabot	No	Provide training and coordination support for the CARI and Foster and Kinship Care Education Program	Arts, Humanities, and Social Sciences	\$ 50.00	450	\$ 22,500.00	1/8/2015	6/30/2015

Informational Report for the February 17, 2015 Board of Trustees Meeting

Last Name	First Name	мі	Site	New Emp to District	Duties	Division	Hourly Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
Kjono	Sara	N.	Chabot	Yes	Provide specialized services, support specific facility use contracts and support specific projects and events for the Performing Arts Center	Arts, Humanities, and Social Sciences	\$ 16.00	250	\$ 4,000.00	1/15/2015	6/30/2015
Moore	Rachel	M.	Chabot	No	Provide sign language interpretation services	Disabled Student Programs and Services	\$ 52.00	101	\$ 5,252.00	12/1/2014	12/31/2014
Moore	Rachel	M.	Chabot	No	Provide sign language interpretation services	Disabled Student Programs and Services	\$ 52.00	649	\$ 33,748.00	1/5/2015	6/30/2015
Perkins	Nicole	В.	Chabot	No	Provide ongoing support for the Daraja Program	Disabled Student Programs and Services	\$ 18.00	500	\$ 9,000.00	2/2/2015	6/30/2015
Millington	Chilopie	nmi	Chabot	No	Provide ongoing support for the Daraja Program	Disabled Student Programs and Services	\$ 18.00	500	\$ 9,000.00	2/2/2015	6/30/2015
Powell	Yvette	L.	Chabot	No	Provide support for PRIDE classes	Foster and Kinship Care Education	\$ 20.00	350	\$ 7,000.00	1/8/2015	6/30/2015

Informational Report for the February 17, 2015 Board of Trustees Meeting

Last Name	First Name	MI	Site	New Emp to District	Duties	Division		Hourly Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
					Provide training workshops for the PRIDE program for	Foster and Kinship Care	•	50.00		 4 500 00	0/4/0044	
St. Germaine	Michelle	E.	Chabot	No	foster parents Provide training for the PRIDE program	Education Foster and Kinship Care	\$	50.00	30	\$	9/1/2014	12/31/2014
Suarez Vanni	Martha Yvonee	<u>Е</u> . М.	Chabot	No	for foster parents Teach the X-ray certification course required by the state for dental assistants and to oversee the didactic/clinical practice of the course	Education Health, Physical Education, & Athletics	\$	65.00 75.00	52	\$	1/5/2015	6/30/2015 6/30/2015
West	Brittany	Т.	Chabot	No	Provide ongoing support for the Daraja Program	Disabled Student Programs and Services	\$	20.00	500	\$ 10,000.00	2/2/2015	6/30/2015
Wolfe	John	А.	Chabot	No	Provide specialized services, support specific facility use contracts and support specific projects and events for the Performing Arts Center	Arts, Humanities, and Social Sciences	\$	16.00	500	\$ 8,000.00	1/2/2015	6/30/2015

Informational Report for the February 17, 2015 Board of Trustees Meeting

				New Emp to				Hourly			Maximum	Assign	Assign
Last Name	First Name	МІ	Site	District	Duties	Division		Rate	Maximum		Amount	Beg. Date	End Date
Las Positas Colle	ge - Community Ed	ucatio	on I		Teach voice over								
D-11			Obstat	N -	classes to Community	Community	•	00.00	00	¢	000.00	4/45/0045	0 /0 0 /0 0 / 7
Bell	l.	Ρ.	Chabot	No	Education students	Education	\$	30.00	20	\$	600.00	1/15/2015	6/30/2015
Brown	Candace	E.	Las Positas	No	Teach music classes to Community Education students	Community Education	\$	40.00	100	\$	4,000.00	2/1/2015	6/30/2015
Crosetti	John	А.	Las Positas	No	Teach foreign languages classes to Community Education students	Community Education	\$	30.00	75	\$	2,250.00	2/1/2015	6/30/2015
Dozier	Thomas	H.	Las Positas	No	Teach parenting classes to Community Education students	Community Education	\$	30.00	50	\$	1,500.00	2/1/2015	6/30/2015
Eddy	William	S.	Las Positas	No	Teach soccer classes to Community Education students	Community Education	\$	30.00	50	\$	1,500.00	1/25/2015	6/30/2015
Fredrich	Michael	F.	Las Positas	No	Teach music classes to Community Education students	Community Education	\$	30.00	75	\$	2,250.00	2/1/2015	6/30/2015
Gatehouse	Lois	T.	Las Positas	No	Teach language classes to Community Education students	Community Education	\$	30.00	75	\$	2,250.00	1/25/2015	6/30/2015

Informational Report for the February 17, 2015 Board of Trustees Meeting

Last Name	First Name	мі	Site	New Emp to District	Duties	Division	Hourly Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
Golojuch	Janice	L.	Las Positas	No	Teach art appreciation and activity classes to Community Education students	Community Education	\$ 30.00	50	\$ 1,500.00	2/1/2015	6/30/2015
Hall-Patterson	Kris	nmi	Las Positas	No	Teach medical assistance and billing classes to Community Education students	Community Education	\$ 30.00	50	\$ 1,500.00	2/1/2015	6/30/2015
Kutil	Craig	А.	Las Positas	No	Teach wellness and physical activity classes to Community Education students	Community Education	\$ 30.00	200	\$ 6,000.00	1/15/2015	6/30/2015
Ligon	Jack	L.	Las Positas	No	Teach photography, computer, and art classes to Community Education students	Community Education	\$ 30.00	200	\$ 6,000.00	2/1/2015	6/30/2015
Lish	Titian	L.V.	Las Positas	No	Teach theater classes to Community Education students	Community Education	\$ 30.00	200	\$ 6,000.00	1/15/2015	6/30/2015
Moyer	Aida	G.	Las Positas	No	Teach language instruction classes to Community Education students	Community Education	\$ 40.00	200	\$ 8,000.00	1/25/2015	6/30/2015

Informational Report for the February 17, 2015 Board of Trustees Meeting

Last Name	First Name	МІ	Site	New Emp to District	Duties	Division	Hourly Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
Murray	Stephen	D.	Las Positas	No	Teach language instruction classes to Community Education students	Community Education	\$ 40.00	200	\$ 8,000.00	2/15/2015	6/30/2015
Patterson	Melissa	nmi	Las Positas	No	Teach resume and job search classes to Community Education students	Community Education	\$ 30.00	50	\$ 1,500.00	2/1/2015	6/30/2015
Rheinheimer	Sophie	C.	Las Positas	No	Teach fencing and wellness classes to Community Education students	Community Education	\$ 40.00	200	\$ 8,000.00	1/15/2015	6/30/2015
Ringener	James	W.	Las Positas	No	Teach fencing and wellness classes to Community Education students	Community Education	\$ 40.00	100	\$ 4,000.00	1/25/2015	6/30/2015
Sapsford	Paul	nmi	Las Positas	No	Teach soccer classes to Community Education students	Community Education	\$ 30.00	300	\$ 9,000.00	1/25/2015	6/30/2015
Suzara	Aimee	L.V.	Las Positas	No	Teach writing classes to Community Education students	Community Education	\$ 30.00	50	\$ 1,500.00	2/1/2015	6/30/2015
West	Matthew	S.	Las Positas	No	Teach activity classes to Community Education students	Community Education	\$ 30.00	100	\$ 3,000.00	1/15/2015	6/30/2015

Informational Report for the February 17, 2015 Board of Trustees Meeting

				New Emp to			Hourly		Maximum	Assign	Assign
Last Name	First Name	MI	Site	District	Duties	Division	Rate	Maximum	Amount	Beg. Date	End Date
Las Positas College											
Knight	Devaney	R.	Las Positas	Yes	Provide services as a marriage and family therapist intern	Student Services	\$ 10.00	500	\$ 5,000.00	1/2/2015	6/30/2015
Neuerburg	Ryan	Т.	Las Positas	Yes	Provide program skills coordination for the Paramedic Program	Science, Technology, Engineering, Math & Public Safety	\$ 25.00	150	\$ 3,750.00	1/2/2015	6/30/2015
					Provide assistance to support Veteran students in the Veterans Engineering Technology Pathway	Career Technical Education					
Santos	Anthony	M.	Las Positas	No		Programs	\$ 45.00	650	\$ 29,250.00	1/12/2015	6/30/2015

Informational Report for the February 17, 2015 Board of Trustees Meeting

Last Name	First Name	MI	Site	New Emp to District	Duties	Division	ŀ	Hourly Rate	Maximum	Maximum Amount	Assign Beg. Date	Assign End Date
District Services												
Bailey	Beverly	F.	District	No	Provides special project services, as needed, for the Board of Trustees and Chancellor	Chancellor's Office	\$	50.00	650	\$ 32,500.00	1/1/2015	6/30/2015
Shepherd	Lissette	nmi	District	Yes	Provide services to the Solano County Child Welfare Services as a curriculum developer and trainer under Solano County Title IV-E's contract	Contract Education	\$	100.00	650	\$ 65,000.00	1/2/2015	6/30/2015
Wood, Jr.	Michael	J.	District	Yes	Provide OSHA safety training to Contract Education, Economic Development and OSHA Training clients		\$	18.00	700	\$ 12,600.00	1/2/2015	6/30/2015